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R oma | BT e | B2 | e | e | B2 | BT e | B2 | T | & | T
1 100kN/mM##8 %% 1.00{ 0.00 ~ 3.25 152.04|3m%x#% %] 0.00 ~ 041 3.24 16.36| 100kN/m#%#BZ% 1.00| 10.86 ~ 28.41 152.04|3m%x# x5 25.00 ~ 2841 3.24 16.36
s 1.00]3.25 ~ 11.04 100.00f Z=h st | 041 ~ 11.04] 3.00 15.16 Lo 1.00] 5.00 ~ 10.86 100.00| =hList | 500 ~ 25.00| 3.00 15.16
9 100kN/m##B %% 1.00{0.00 ~ 3.23 151.69|3m%x#%%(0.00 ~ 042 3.25 16.42| 100kN/m#%#BZ% 1.00] 10.90 ~ 28.20 151.69|3m%x# x5 25.00 ~ 28.20( 3.25 16.42
s 1.00]3.23 ~ 11.02 100.00f Z=h st 1042 ~ 11.02] 3.00 15.16 Lo 1.00] 5.00 ~ 10.90 100.00| =hList | 500 ~ 25.00| 3.00 15.16
3 100kN/mM##8 %% 1.00{0.00 ~ 222 134.44|3m%FEZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 11.32 ~ 20.20 134.44| 3m%#BZ % =l ~ = = =
s 1.00] 2.22 ~ 10.00 100.00f Z=h st | 0.00 ~ 10.00] 2.97 15.01 Lo 1.00] 500 ~ 11.32 100.00| Z=hLis | 500 ~ 20.20f 297 15.01
4 100kN/mM##8 %% 1.00{0.00 ~ 224 134.82| 3m%x#EZ % = Kad = = —| 100kN/mM%Z#BZ % 1.00] 11.12 ~ 24.00 134.82| 3Im#FBZ 5 =l ~ = = =
s 1.00] 2.24 ~ 10.02 100.00f Z=h st |0.00 ~ 10.02] 2.52 12.74 Lo 1.00] 500 ~ 11.12 100.00| =hList | 500 ~ 24.00| 252 12.74
5 100kN/m##B %% 1.00{0.00 ~ 1.72 126.34| 3m%*x#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 1248 ~ 26.20 126.34| 3m%#BZ % =l ~ = = =
s 1.00{1.72 ~ 9.50 100.00f Z=h 4t | 0.00 ~ 9.50| 2.70 13.67 Lo 1.00] 5.00 ~ 1248 100.00| =hList | 500 ~ 26.20| 2.70 13.67
6 100kN/m##8 %% 1.00{0.00 ~ 2383 144.83|3m%x#% %] 0.00 ~ 0.91| 3.40 17.17| 100kN/m#%#B 2% 1.00] 1117 ~ 41.20 144.83| 3m%#E% 5| 40.00 ~ 41.20| 3.40 17.17
Lo 1.00] 2.83 ~ 10.62 100.00f Z=h st 1 0.91 ~ 10.62] 3.00 15.16 Lot 1.00] 500 ~ 11.17 100.00| =hList | 500 ~ 40.00| 3.00 15.16
7 100kN/m##B %% 1.00{0.00 ~ 3.37 154.20| 3m%x#%%(0.00 ~ 1.18| 3.55 17.95| 100kN/m#%#B 2% 1.00] 10.62 ~ 41.20 154.20[ 3m%x#Z 5| 30.00 ~ 41.20[ 3.55 17.95
Zh st 1.00{3.37 ~ 11.16 100.00f = lA4t |1.18 ~ 11.16] 3.00 15.16 st 1.00] 5.00 ~ 10.62 100.00| =xlist | 500 ~ 30.00f 3.00 15.16
8 100kN/ Mm% X % 1.00{ 0.00 ~ 3.28 152.55(3m#*#EZ%5|0.00 ~ 1.13] 3.52 17.79] 100kN/m%#B 25 1.00] 10.69 ~ 41.20 152.55|3m%#8% % 30.00 ~ 41.20| 3.52 17.79
Zh Lt 1.00{3.28 ~ 11.06 100.00f Zh A4t |1.13 ~ 11.06] 3.00 15.16 st 1.00] 5.00 ~ 10.69 100.00| =Hxlist | 500 ~ 30.00| 3.00 15.16
9 100kN/MZ#8 2 % -l -~ = -|3m%EiHEZ % -~ = = —| 100kN/m%#BZ % = -~ = - 3m%iBx 5 o ~ = = =
Lt 1.00{0.00 ~ 454 56.57| =Lt 000 ~ 454| 1.96 9.90 st 1.00] 500 ~ 520 56.57| =nkst | 500 ~ 5.20| 1.96 9.90
10 100kN/ Mm% X % 1.00]0.00 ~ 3.21 151.35|3m#*i##EZ%|0.00 ~ 0.09] 3.04 15.39]| 100kN/mM%#B %% 1.00] 10.67 ~ 36.58 151.35|3m%#8% % 30.00 ~ 36.58| 3.04 15.39
st 1.00{3.21 ~ 11.00 100.00f =1 ld4t+ 1 0.09 ~ 11.00] 3.00 15.16 st 1.00|] 5.00 ~ 10.67 100.00| =xlist | 500 ~ 30.00f 3.00 15.16
11 100kN/ Mm% X % 1.00]0.00 ~ 3.41 154.91|3m#*#EZ5|0.00 ~ 1.19] 3.56 17.98]| 100kN/mM%#B %5 1.00] 10.61 ~ 42.80 154.91|3m%#8% % 30.00 ~ 42.80| 3.56 17.98
st 1.00{3.41 ~ 11.20 100.00f = dst |1.19 ~ 11.20] 3.00 15.16 st 1.00] 5.00 ~ 10.61 100.00| =xList | 500 ~ 30.00f 3.00 15.16
12 100kN/ Mm% X % 1.00{0.00 ~ 3.65 159.05|3m#*#EZ%|0.00 ~ 1.35| 3.66 18.49| 100kN/M%E#B %5 1.00] 10.53 ~ 42.84 159.05|3m%#8% 5| 25.00 ~ 42.84| 3.66 18.49
st 1.00{3.65 ~ 1143 100.00f = d4t |1.35 ~ 11.43] 3.00 15.16 st 1.00] 5.00 ~ 10.53 100.00| =xList | 500 ~ 25.00| 3.00 15.16
13 100kN/ Mm% X % 1.00{0.00 ~ 3.12 149.71|3m#*#EZ5|0.00 ~ 1.05| 347 17.55| 100kN/ Mm% %% 1.00] 10.83 ~ 40.86 149.71| 3m%#8% %| 40.00 ~ 40.86| 3.47 17.55
Zh Lt 1.00{3.12 ~ 10.90 100.00f =1 A4t | 1.05 ~ 10.90| 3.00 15.16 st 1.00] 5.00 ~ 10.83 100.00| =xList | 500 ~ 40.00| 3.00 15.16
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ Thst ~ ZhLst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ st ~ st ~
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